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QUESTION 1
Given the result of the following query:

mysql> SELECT Host, User FROM mysql.user WHERE User=\\'joe\\’;

+ + +
| Host | User |

+ + +
| % | joe |

| example.com | joe |

4 + +
T T T

2 rows in set (0.00 sec)
A client connection is established with the username joe from the host example.com.

Assuming that the login is successful, which of the entries shown in the mysqgl.user table are used to authenticate the
client connection for subsequent query executions, and why?

A. The Wjoe\W'@\\'%\' account is used for all authentication, as MySQL will always use the most general host name
possible.

B. The \Wjoe\W@\\'example.com\\' account is used for all authentication, as MySQL will always use the most specific
hostname possible.

C. For every query, the \\joe\\'@\\'example.com\\' account is checked first. If that does not have the proper permissions,
\Vjoe\W@\\'%\" will be used as MySQL will check all relevant accounts, with the most specific hostname first.

D. For every query, the \VjoeW@\\'%\\' account is checked first. If that does not have the proper permissions,
\Vjoe\W@\\'example.com\\' will be used as MySQL will check all relevant accounts, with the most general hostname first.

Correct Answer: B

QUESTION 2

As an administrator, you attempt to create the account \\'joe\\'@\\'example.com\\' with the following statement:
GRANT SELECT, UPDATE, DELETE ON world.* TO \Wjoe\\@\\'example.com\\'

Which of the following best describe the effects of issuing this statement?

A. The account is not created, as you must always specify a password for new users

B. Depending on active SQL modes, you may be prevented from creating the account because no password is
specified. Otherwise, an account with no password is created.

C. An account with no password is created, regardless of SQL modes. The password will not need to be set at a later
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time.

D. Since no password is specified, the account is created with an empty password that must be changed by the user on
first login

E. There is not enough information provided to determine the outcome of executing that statement.

Correct Answer: A

QUESTION 3

Which of the following statements about the slow query log is true?
A. The slow query log will always contain just slow queries.

B. The slow query log may not always contain just slow queries.

C. The slow query log always logs more than just slow queries.

Correct Answer: B

QUESTION 4
What will be the effect of executing the following statement? REVOKE ALL PRIVILEGES FROM \\'web\\'@\\'localhost\\
A. The account \'web\\'@\\'localhost\\' will have all privileges removed, and the account deleted from the server.

B. The account \\'web\\'@\\'localhost\\' will no longer be usable for login, but since there is no ON clause, privileges are
retained for re-enabling the account at a later time.

C. The account \'web\\@\\'localhost\\' will lose all privileges except for USAGE
D. Nothing. A REVOKE statment without an ON clause is invalid

Correct Answer: C

QUESTION 5

Consider the following:

mysql> EXPLAIN SELECT * FROM City WHERE CountryCode = WUSAW\G **##xxiiididoiniss 1 row
——————————

id: 1

select_type: SIMPLE

table: City type: ALL

possible_keys: NULL
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key: NULL

key len: NULL

ref: NULL

rows: 4079

Extra: Using where

What does the possible_keys column in this output denote?

A. Whether there are any indexes on the table(s) you are querying.
B. If there are any indexes you may be able to use.

C. Whether you are using any indexes in your query.

D. If it is possible for you to include any indexes in your query.

Correct Answer: B
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